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1. OB f(t) OB f’(t)( _ df;g’f)) ek k. e 5 4]
t
_ . in — —3t —3t —
(1) f(t) = cost + tsin 3t (2) ft)=e 41—te (3) f(t) igersi
(4) f(t) =cos 't (5) f(t) = P32
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2. OB F() DRI / () dt #RD . % 5 4
(1) f(t) = cost+ tsin3t (2 f(t) 26_3’5—1—756_375 3) f(1) = \/1’17#
(4) f(t) =cos™'t (5) f@t)= 2132
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3. LEDOEH C,Co 1Tk LT, Bz : R — R; z(t) = Cycosdt + Cysindt BRDO

z"(t) + kx(t) =0 (%)
BT L5 B k OfARD L. 2L, = % b5 % 10 4]

4. LEOER Cy, O WK LT, B 2R — R; a(t) = Crett + Coe~ T RO :

2" (t) + k12’ (t) + ko(t) = 0 (%)
BT & 5 2k, ke O RD L. L ':% <b5. % 20 4]
5. ROYIWIERTE
{ o/ (t) = —Tx(t), )
-
v0)=2
oiEkb Y. L, =L <hs, U 20 4]

dt



